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"Boulton's Unabridged Pidgin Centauran Edition" of the simSETI Messages, Frames 1-27

        
    Ver. 1.0  93.01.22/dab

Because the transcription was done so as to preserve the graphics, each new 

symbol had to be no longer than the original symbol. As a result, some of 

the abbreviations are pretty strained. My apologies. 

The measurement units shown are Earth's near equivalents to Centauran 

units. 

The "Introduced" column shows the frame number where the symbol is first 

seen.

                    

Glossary

Symbol          Transliteration     Meaning                         Introduced

-----           --------------      -------                         ----------

+ <bits>        +number             Positive numeric constant           2

ooo             =                   Equivalence/equals                  2

o+              +                   Addition operator                   3

+o              -                   Subtraction operator                4

o <bits>        -number             Negative numeric constant           4

ooo+            (                   Begin group  "Open Paren"           4

+ooo            )                   End group "Close Paren"             4

++              *                   Multiplication operator             5

+++             **                  Exponentiation operator             5

oo              /                   Division operator                   6

+ oooo          +UNDEF              Undefined result, div. by zero      6

o+o             ~=                  Approximately equals                6

o++o            Pi                  The number"Pi"                      7

+ooo+o+         circum.             Circumference of a circle           7

++oooo+         circle              geometric circle                    7

+ooooo+         radius              Radius of a circle                  7

++ooooo         area                area of a surface                   7

+++ooo+         sphere              geometric sphere                    7

+++oooo         volume              volume of a solid                   7

o++oooo         Earth               The planet Earth                    8

o+ooooo         Sun                 The star Sol                        8

+oooooo         range               Distance between objects            8

+oooo+          meter               Unit of distance, ~1 meter          8

+o+++++         gravity             The gravitational constant G        8

oooooo+         mass                The mass of an object               8

++++oo+         period              orbital period [1]                  8

++ooo++         ellipse             geometric ellipse                   9

+oooo++         MajAxis             Semimajor axis of an ellipse        9

+oooo+o         MinAxis             Semiminor axis of an ellipse        9

oo+o+oo         focus               A focus of an ellipse               9

oo+ooo+         eccent.             Eccentricity (of an ellipse?)       9

ooo+ooo         center              center (of an ellipse?)             9

o+ooo+o         ACen-B              The star Alpha Centauri B           10  

o+ooo++         ACen-A              The star Alpha Centauri A           10

ooooo+          kilo                Unit of mass, ~1 kilogram           12

++++o+          second              Unit of time, ~1 second             12

ooooo+o         temp.               Temperature of an object            13

oooo+o          kelvin              Unit of temperature, ~1 kelvin      13

+o++o+          lumen               Unit of luminosity, ~1 lumen        13

+o++++          [unit]              Mystery unit,                       13

                                    perhaps = 1 lumen meter^-2 nm^-1

+oo+++          nm.                 Unit of wavelength, ~1 nanometer    13

ooooo++         SurfMag             Luminosity [2]                      14

oo                                  Cartoon of an 'up' quark            15

o

o                                   Cartoon of a 'down' quark           15

oo

Sawtooth lines                      Strong nuclear force                15

++o++           Neut.               A neutron                           15

+o+++           Prot.               A proton                            16

oo                                  Cartoon of an electron              16

oo

+++o+           Elec.               An electron                         16

Wavy lines                          Electromagnetic force               17

+ooo+           atom                An atom [3]                         17

[1] Could mean abstractly 'period of repetition'.

[2] Refers to the absolute surface brightness of a star

[3] Chemical elements are represented as the 'atom' symbol surrounded

    by the number of neutrons, protons and electrons in the atom. The 

    symbol 'atom' is not used alone. Ions are shown by changing the 

    electron (bottom right) number. For example the following is the 

    symbol for ionized helium:

                    +2

                   Atom

                 +2    +1

-------------------------------------------------------------------------

Frame #1 (received @ CONTACT IX, 1992)

[A black-body radiation curve]

              +++

                +

                +

                +

               ++       +++

                +       + +

                +      +   +

                +      +   +

               ++      +    +

                +      +    +

                +     +      +

                +     +      +

               ++     +       +

                +     +       +

                +     +        +

                +     +         +

               ++     +         +

                +    +           +

                +    +            +

                +    +             +

               ++    +              +

                +    +               +

                +    +                +

                +    +                 ++

               ++   +                    ++

                +   +                      +++

                +   +                         +++++

                +  +                               ++++++

              +++++++++++++++++++++++++++++++++++++++++++

                +       +       +       +       +       +

                +                                       +

Frame 2 (received @ CONTACT IX, 1992)

[Learning to count, the format of numbers, the concept 'equals']

         +0   =

         +1   =   +

         +2   =   + +

         +3   =   + + +

         +4   =   + + + +

         +5   =   + + + + +

         +6   =   + + + + + +

         +7   =   + + + + + + +

         +8   =   + + + + + + + +

         +9   =   + + + + + + + +  +

        +10   =   + + + + + + + +  + +

        +11   =   + + + + + + + +  + + +

        +12   =   + + + + + + + +  + + + +

        +13   =   + + + + + + + +  + + + + +

        +14   =   + + + + + + + +  + + + + + +

        +15   =   + + + + + + + +  + + + + + + +

        +16   =   + + + + + + + +  + + + + + + + +

        +17   =   + + + + + + + +  + + + + + + + +  +

Frame #3 (received @ CONTACT IX, 1992)

[addition]

    +0   +   +0     =    +0

    +1   +   +0     =    +1

    +0   +   +1     =    +1

    +1   +   +1     =    +2

    +2   +   +0     =    +2

    +0   +   +2     =    +2

    +2   +   +1     =    +3

    +1   +   +2     =    +3

    +0   +   +3     =    +3

    +3   +   +0     =    +3

    +1   +   +1   +   +1   =    +3

    +1   +   +3     =     +4

    +3   +   +1     =     +4

    +2   +   +2     =     +4

    +1   +   +1   +   +1   +   +1   =     +4

    +1   +    +4    =     +5

    +1   +    +5    =     +6

    +1   +    +6    =     +7

Frame # 4 (received @ CONTACT IX, 1992)

[subtraction, negative numbers, operator grouping]

    +0   -   +0     =    +0

    +1   -   +0     =    +1

    +0   -   +1     =    -1

    +1   -   +1     =    +0

    +2   -   +0     =    +2

    +0   -   +2     =    +0   -   +1   -   +1   =     -2

    +2   -   +1     =    +1

    -1   +   +2     =    +1

    +1   -   +2     =    -1

    -2   +   +1     =    -1

    +2   -    +2    =    +2    -   +1   -   +1   =    +0

    +2   -    +2    =    +2    -    (    +1   +   +1    )

                                                        =    +0

   +3    -   +0     =    +3

    +0   -   +3     =    -3    +   +0   =    -3

    +0   -   +3     =     (    +0   -   +3     )    =    -3

    +0   -   +3     =    +0   -    (    +3     )    =    -3

    +0   +   +3     =    +0   -    (    -3     )    =    +3

Frame # 5 (received @ CONTACT IX, 1992)

[multiplication, exponentiation]

    +0   *   +0     =    +0      =    +0    **   +1

    +1   *   +0     =    +0      =    +0    *    +1

    +1   *   +1     =    +1      =    +1    **   +1

    +2   *   +0     =    +0      =    +0    *    +2

    +2   *   +1     =    +2      =    +1    *    +2

    +2   *   +2     =     +4     =    +2    **   +2

    +2   *   +2    *   +2    =      +8   =     +2    **   +3

    +0   *   +3     =    +0      =    +3    *    +0

    +1   *   +3     =    +3      =    +3    *    +1

    +2   *   +3     =    +5      =    +3    *    +2

   +3    *   +3     =    +9      =    +3    **   +2

                                      +3    **   +1   =    +3

                                      +3    **   +0   =    +1

                                      +2    **   +1   =    +2

                                      +2    **   +0   =    +1

                                      +1    **   +1   =    +1

                                      +1    **   +0   =    +1

Frame # 6 (received @ CONTACT IX, 1992)

[The concept of division, div. by 0 as undefined, approximation]

    +0   /   +1     =    +0

    +0   /   +2     =    +0

    +0   /   +3     =    +0

    +1   /   +1     =    +1

   +2    /   +1     =    +2

   +3    /   +1     =    +3

   +2    /   +2     =    +1

    +0   /   +0     =    +1

    +1   /   +0     =    +UNDEF

   +2    /   +0     =    +UNDEF

    +1   /   +2     =     +4    /      +8

    +1   /   +2     =     +4    *      +8   **   -1

    +1   /   +3     ~=           +1365   /     +8    **    +4

    +1   /   +3     ~=          +1365   *     +8    **    -4

    +1   /    +4    =    +2     /     +8

    +1   /    +4    =    +2     *     +8    **   -1

    +1   /    +5    ~=          +819    /     +8    **    +4

    +1   /    +5    ~=          +819    *     +8    **    -4

Frame # 7  (received @ CONTACT IX, 1992; corrected 12/92)

[geometry of circles and spheres, Pi]

    Pi   ~=            +12868   *     +8    **     -4

  circum.  circle   =    +2    *    Pi   *  radius

   area    circle   =     Pi   *  radius    **   +2

                           +++++++

                         ++   +   ++

                       ++     +     ++

             circum.  +       +       +

                     +        +        +

                    +                   +

                    +      radius       +

                   +                     +

                   +          +          +

                  +           +           +

                  +           +           +

                  +           +           +

                  +           +++++++++++++

                  +                       +

                  +             radius    +

                  +                       +

                   +                     +

                   +                     +

                    +                   +

                    +                   +

                     +      area       +

                      +               +

                       ++           ++

                         ++       ++

                           +++++++

   area   sphere    =     +4    *    Pi   *  radius    **   +2

  volume  sphere    =     (     +4    /   +3     )    *

                                     Pi   *  radius    **   +3

Frame # 8 (received @ CONTACT IX, 1992)

[distance of the Earth from the Sun, Kepler's law]

  Earth    range    Sun     =         +140   *     +8    ^

                                                    +10  meter

  Earth    range    Sun     /  radius    Sun     =         +215

                           +++++++

                         ++       ++

                       ++           ++

                      +               +

                     +                 +

                    +                   +

                    +                   +

                   +                     +

                   +                     +

                  +                       +

                  +   range               +

                  +                       +

         Earth    o+++++++++++o           +

                  +                       +

                  +          Sun          +

                  +                       +

                   +                     +

                   +                     +

                    +                   +

                    +                   +

                     +                 +

                      +               +

                       ++           ++

                         ++       ++

                           +++++++

    +4    *    Pi   **   +2    *

     Earth    range    Sun     **   +3    =   gravity   *

         mass     Sun     *  Earth   period    Sun     **   +2

Frame # 9 (received @ CONTACT IX, 1992)

[geometry of the ellipse, focii, eccentricity]

   area   ellipse   =     Pi   *  MajAxis   *  MinAxis

  eccent.   **   +2    =     (   MajAxis   **   +2    -

              MinAxis   **   +2     )    /  MajAxis   **   +2

  eccent.  circle   =    +0

            +++++++++                       +++++++++

          +++   +   +++                   +++       +++

        ++      +      ++               ++             ++

       +        +        +             +                 +

      +         +         +           +                   +

     +                     +         +                     +

    +        MinAxis        +       +                       +

   +                         +     +                         +

   +            +            +     +                         +

  +             +             +   +                           +

  +             +             +   +          center           +

  +             +             +   +                           +

  +             +++++++++++++++   +      +      +      +      +

  +                           +   +                           +

  +                MajAxis    +   +    focus         focus    +

  +                           +   +                           +

   +                         +     +                         +

   +                         +     +                         +

    +                       +       +                       +

     +                     +         +                     +

      +                   +           +                   +

       +                 +             +                 +

        ++             ++               ++             ++

          +++       +++                   +++       +++

            +++++++++                       +++++++++

   focus   range  center    =   MajAxis   *  eccent.

  center   range   focus    =   MajAxis   *  eccent.

   focus   range   focus    =    +2    *  MajAxis   *  eccent.

FRAME # 10 (received @ CONTACT IX, 1992; corrected 12/92)

[distance at perihelion, and orbit of Alpha-B wrt Alpha-A Centauri]

  ACen-B   range  ACen-A    /  Earth    range    Sun     =

                                                            +11

                          +++++++++

                        +++   +   +++

                      ++      +      ++

                     +        +        +

                    +         +         +

                   +                     +

                  +        MinAxis        +

                 +                         +

                 +            +            +

                +             +             +

                +             +             +

                +             +             +

        ACen-B  o      o      +++++++++++++++

                +                           +

                +   ACen-A       MajAxis    +

                +                           +

                 +                         +

                 +                         +

                  +                       +

                   +                     +

                    +                   +

                     +                 +

                      ++             ++

                        +++       +++

                          +++++++++

  ACen-B  MajAxis ACen-A    =       +23   *

                Earth    range    Sun     =

                         +3220   *     +8    **     +10  meter

  ACen-B  MinAxis ACen-A    =       +20   *

                Earth    range    Sun     =

                         +2800   *     +8    **     +10  meter

FRAME # 11 (received @ CONTACT IX, 1992; corrected 12/92)

[distance at aphelion, and orbit of Alpha-B wrt Alpha-A Centauri]

  ACen-B   range  ACen-A    /  Earth    range    Sun     =

                                                  +71   /   +2

                          +++++++++

                        +++   +   +++

                      ++      +      ++

                     +        +        +

                    +         +         +

                   +                     +

                  +        MinAxis        +

                 +                         +

                 +            +            +

                +             +             +

                +             +             +

                +             +             +

                +      o      ++++++++++++++o ACen-B 

                +                           +

                +   ACen-A       MajAxis    +

                +                           +

                 +                         +

                 +                         +

                  +                       +

                   +                     +

                    +                   +

                     +                 +

                      ++             ++

                        +++       +++

                          +++++++++

  ACen-B  MajAxis ACen-A    =       +23   *

                Earth    range    Sun     =

                         +3220   *     +8    **     +10  meter

  ACen-B  MinAxis ACen-A    =        20   *

                Earth    range    Sun     =

                         +2800   *     +8    **     +10  meter

FRAME # 12 (received @ CONTACT IX, 1992; corrected 12/92)

[mass of Sol, Alpha-A, & Alpha-B, Two-body orbit equation,

 orbital periods of Alpha-B, Earth]

   mass     Sun     =       +25   *     +8    **       +32

                                                         kilo

   mass   ACen-A    /   mass     Sun     =      +11   /     +10

   mass   ACen-B    /   mass     Sun     =       +17   /

                                                            +20

                          +++++++++

                        +++   +   +++

                      ++      +      ++

                     +        +        +

                    +         +         +

                   +                     +

                  +        MinAxis        +

                 +                         +

                 +            +            +

                +             +             +

                +             +             +

                +             +             +

                +      o      +++++++++++++++

                +                           +

                +   ACen-A       MajAxis    +

                +                           +

                 +                         +

                 +                         +

                  +                       +

                   +                     +

                    +                   o

                     +                 +  ACen-B 

                      ++             ++

                        +++       +++

                          +++++++++

    +4    *    Pi   **   +2    *  MajAxis   **   +3    =

   gravity   *    (    mass   ACen-A    +

    mass   ACen-B     )    *  ACen-B  period  ACen-A    **  +2

  ACen-B  period  ACen-A    /  Earth   period    Sun     =

                                                +409   /     +5

  Earth   period    Sun     =           +963   *

                                        +8    **     +5  second

Frame # 13 (received @ CONTACT IX, 1992)

[Mystery frame: appears to be garbled blackbody spectrum of Sol]

   temp.    Sun     =             +5784  kelvin

   +1  [units]  =    +1   lumen   /  meter    **   +2    /

                                              nm.     **     +5

   *     +8    **  -4  [units]

         +56  +++

                +

                +

                +

         +48   ++       +++

                +       + +

                +      +   +

                +      +   +

         +40   ++      +    +

                +      +    +

                +     +      +

                +     +      +

         +32   ++     +       +

                +     +       +

                +     +        +

                +     +         +

         +24   ++     +         +

                +    +           +

                +    +            +

                +    +             +

         +16   ++    +              +

                +    +               +

                +    +                +

                +    +                 ++

          +8   ++   +                    ++

                +   +                      +++

                +   +                         +++++

                +  +                               ++++++

          +0  +++++++++++++++++++++++++++++++++++++++++++

                +       +       +       +       +       +

                +                                       +

               +0                                      +240

               nm.                                    nm.

          +1   nm.     =    +1  meter    *     +8    **     -10

FRAME # 14 (received @ CONTACT IX, 1992; corrected 12/92)

[temperatures, masses, radii, luminosities for Sol, Alpha-A, Alpha-B]

   temp.    Sun     =             +5784  kelvin

   temp.  ACen-A    =             +5784  kelvin

   temp.  ACen-B    =             +4200  kelvin

   mass     Sun     =       +25   *     +8    **       +32

                                                         kilo

   mass   ACen-A    /   mass     Sun     =      +11   /     +10

   mass   ACen-B    /   mass     Sun     =       +17   /

                                                            +20

  radius    Sun     =        +41   *     +8    **     +8

                                                         meter

  radius  ACen-A    /  radius    Sun     =      +6   /     +5

  radius  ACen-B    /  radius    Sun     =      +6   /     +5

  SurfMag   Sun     =       +20   *     +8    **      +28

                                                          lumen

  SurfMag ACen-A    /  SurfMag   Sun     =    +3    /   +2

  SurfMag ACen-B    /  SurfMag   Sun     =    +2    /     +5

Frame # 15 (received @ CONTACT IX, 1992)

[Cartoon of a neutron, with quarks and strong force lines]

                oo

                o

                + +

                + +

                + +

                + +

                + +

            +++++ +++++

            +         +

            +         +

            +         +

            +         +

            +         +

            +         +

        +++++         +++++

        +                 +

        +                 +

        +                 +

        +                 +

        +                 +               =    Neut.

        +                 +

    +++++                 +++++

    +                         +

    +                         +

    +                         +

    +                         +

    +      +       +       +  +

    +     + +     + +     + + +

 oo ++   +   +   +   +   +   ++ o

 o    + +     + +     + +       oo

       +       +       +

Frame #16 (received @ CONTACT IX, 1992)

[Cartoon of a proton, with quarks and strong force lines,

 Cartoon of an electron]

                o

                oo

                + +

                + +

                + +

                + +

                + +

            +++++ +++++

            +         +

            +         +

            +         +

            +         +

            +         +

            +         +

        +++++         +++++

        +                 +

        +                 +

        +                 +

        +                 +

        +                 +               =    Prot.

        +                 +

    +++++                 +++++

    +                         +

    +                         +

    +                         +

    +                         +

    +      +       +       +  +

    +     + +     + +     + + +

 oo ++   +   +   +   +   +   ++ o

 o    + +     + +     + +       oo

       +       +       +

                oo

                oo                        =    Elec.

Frame  #17 (received @ CONTACT IX, 1992)

[Cartoon of a hydrogen atom. Introduction of the atom symbol]

         Prot.

          +  +

          +  +

         +  +

         +  +                                 +0

         +  +

          +  +                 =             Atom

          +  +

          +  +                             +1    +1

         +  +

         +  +

         Elec.

Frame  #18 (received @ CONTACT IX, 1992)

[Cartoon of a deuterium atom, symbol for deuterium]

         Neut.

          +

           +

            +

             +

            +

           +

          +

         +

          +

           +

            +                                 +1

         Prot.                 =             Atom

          +  +                             +1    +1

          +  +

         +  +

         +  +

         +  +

          +  +

          +  +

          +  +

         +  +

         +  +

         Elec.

Frame  #19 (received @ CONTACT IX, 1992)

[Cartoon of a tritium atom, symbol for tritium]

         Neut.

               ++++

          +       +

           +      +++++

            +         +

             +        +++

            +

           +           Neut.

          +

         +            +++

          +           +

           +      +++++

            +     +                           +2

               ++++

         Prot.                 =             Atom

          +  +                             +1    +1

          +  +

         +  +

         +  +

         +  +

          +  +

          +  +

          +  +

         +  +

         +  +

         Elec.

FRAME # 20 (received @ CONTACT IX, 1992; corrected 12/92)

[Cartoon of a helium atom, symbol for helium]

                 +   +

         Neut.  + + + +  Neut.

               +   +   +

          +                +

           +                +

            +                +

             +                +

            +                +

           +                +

          +                +

         +                  +

          +                  +

           +                  +

            +    +           +                +2

                + + +++

         Prot. +   +   + Prot.     =         Atom

                +++ + +

          +          +      +              +2    +2

          +                 +

         +                   +

         +                   +

         +                   +

          +                 +

          +                 +

          +                 +

         +                   +

         +                   +

                 +++   +

         Elec. ++   +++  Elec.

FRAME # 21 (received @ CONTACT IX, 1992; corrected 12/92)

[Spectrum of sodium]

   temp.    Sun     =             +5784  kelvin

              +114688    (    lumen   /   nm.      )    /

              +++                             meter    **   +2

                +         ++

                +         ++

                +         ++

               ++       ++++

                +       + ++

                +      +  ++

                +      +  ++

               ++      +  +++

                +      +  +++

                +     +   ++ +                     +12

                +     +   ++ +

               ++     +   ++  +                    Atom

                +     +   ++  +

                +     +   ++   +                +11   +11

                +     +   ++    +

               ++     +   ++    +

                +    +    ++     +

                +    +    ++      +

                +    +    ++       +

               ++    +    ++        +

                +    +    ++         +

                +    +    ++          +

                +    +    ++           ++

               ++   +     ++             ++

                +   +     ++               +++

                +   +     ++                  +++++

                +  +      ++                       ++++++

          +0  +++++++++++++++++++++++++++++++++++++++++++

                +       + ++    +       +       +       +

                +         ++                            +

                          ++

               +0         ++                          +2400

                          ++

               nm.        ++                          nm.

                          ++

                         +632   nm.

FRAME # 22 (received @ CONTACT IX, 1992; corrected 12/92)

[Cartoon of neutron, mass of neutron]

                oo

                o

                + +

                + +

                + +

                + +

                + +

            +++++ +++++

            +         +

            +         +

            +         +

            +         +

            +         +

            +         +

        +++++         +++++

        +                 +

        +                 +

        +                 +

        +                 +

        +                 +               =    Neut.

        +                 +

    +++++                 +++++

    +                         +

    +                         +

    +                         +

    +                         +

    +      +       +       +  +

    +     + +     + +     + + +

 oo ++   +   +   +   +   +   ++ o

 o    + +     + +     + +       oo

       +       +       +

                 mass   Neut.   =           +1062   *     +8

                                      **       -33  kilo

FRAME # 23 (received @ CONTACT IX, 1992; corrected 12/92)

[Cartoons of proton, electron. mass of proton, electron]

                o

                oo

                + +

                + +

                + +

                + +

                + +

            +++++ +++++

            +         +

            +         +

            +         +

            +         +

            +         +

            +         +

        +++++         +++++

        +                 +

        +                 +

        +                 +

        +                 +

        +                 +               =    Prot.

        +                 +

    +++++                 +++++

    +                         +

    +                         +

    +                         +

    +                         +

    +      +       +       +  +

    +     + +     + +     + + +

 oo ++   +   +   +   +   +   ++ o

 o    + +     + +     + +       oo

       +       +       +

                 mass   Prot.   =           +1060   *     +8

                                      **       -33  kilo

                oo

                oo                        =    Elec.

                 mass   Elec.   =            +2365   *     +8

                                      **       -37  kilo

Frame 24  (received 12/31/92)

[Spectrum of hydrogen]

   temp.    Sun     =             +5784  kelvin

              +114688    (    lumen   /   nm.      )    /

              +++                             meter    **   +2

                + +         +

                + +         +

                + +         +

               ++ +     +++ +

                + +     + + +

                + +    +   ++                       +1

                + +    +   ++

               ++ +    +    +                      Atom
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          +1   nm.     =    +1  meter    *     +8    **  -10

 FRAME 25   (received 12/31/92)

[Spectrum of helium]

   temp.    Sun     =   +5784    kelvin

              +114688    (    lumen   /   nm.      )    /

              +++                             meter    **   +2

                ++                 +

                ++                 +

                ++                 +

               +++      +++        +             +1186   nm.
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                 +                 +

          nm.    +                 +                      nm.
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                 +               +1163   nm.

                +63   nm.

          +1   nm.     =    +1  meter    *     +8    **  -10

FRAME 26  (received 12/31/92)

[Cartoon of ionized helium, symbol for He+]
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FRAME 27   (received 12/31/92)

[Spectrum of ionized helium]

   temp.    Sun     =   +5784      kelvin
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          nm.     +1     +176      nm.

          +1   nm.     =    +1  meter    *     +8    **  -10
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Resident of o++oooo , o+ooooo 

This message is part of simSETI.

Any resemblance to the actual future is purely intentional.

